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PART—A
SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled jaj, (B
and M.’Rmd each sentence 1o find cut whether there is any error in any underlined part and indicate
vour response in the Answer Bheet against the corresponding letter, i.e., fa) or [b) or fcl. 1If you find no
error, your response should be indicated as (d).

1. He appears 1o be a honest man, Mo ermor

fez) (b fc) ()

2. One of the members

fal fe}
3. Thisview has beenffalk i - SEEPCTSO] 1B written on this subject.
fexf fcl
No error
(el
& Slow and steady owns the No ettor

fa) (b} fe) fid)

5. We often hear people say  that most human beings have not evolved
faf iy

or grow up enough to stick to truth or non-viclence. No error
fef (d)
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SYNONYMS

Directions : Each item in this section consiasts of a sentence with an underlined word followed
by four words or groups of worda. Select the word or group of words that is nearest in meaning
to the underlined word and mark vour response in your Answer Sheet accordingly,

6. The Industrial Revolution saw a massive 8. Tﬁlﬂ_ boy is very timid,
rise in the population of Europe.

fa} courageous

fal enormous fb) shy
{o]  clever
{b} ermoneous e
& B sl m‘f} 5 stubborn as a mule
fd)] perilous

in my work.

{a) ideas and opinions His behaviour was  deliberately
provocative

{b) firm belicfs fa) exciting desire
(b infuriating

i) prejudices
fc] pitiable

fd] biases fd] creating frustration
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ANTONYMS
DMrections 1 Each item in this section consists of & sentence with an underlined word followed
by four words or groups of words. Select the word or group of words that is opposite In meaning
to the underlined word and mark your response in vour Answer Sheet accordinghy.

11. Too many cooks spoil the broth., 13. Tt is Eﬁﬂ'y to be an orthodox.

fa) idolatrous

faj tarnish
fal  intelligent
L]
b wreck fel  malignant
fc) embellish
present you with a book.
fdl upset

12. He iz biased against

cities.
fa) open
15. MNone but the brave deserves the fair.
fh) prejudiced fa) ugly person
{b] coward
fol  liked
fol  jealous person
fd} impartial fel} weal person
YPL-LU-AV.]/80A 4




COMPREHENSION

Directions : In this section, you have two short passages. After each passage, you will find some
iterns based on the passage. Pirst, read a passage and answer the items based on it and mark your
rezponse on the Answer Sheet accordingly, You are required 1o select your answers based on the
contents of the passage and opinion of the author only.

“Now, ladies and gentlemen,” said the conjuror, *having shown you that the cloth is abselutely empty,
1 will proceed to take from it & bowl of goldfish. Presto(”

All around the hall people weére saying, “Oh, how wonderful| How does he do it?”

But the Quick Man on the front seat said in a hig whisper to the people near him,

“He-had-it-up-his-sleeve,”
*Oh, ejur&:'; and evervbody

Then the people nodded brightly at the QW
whispered round the hall, *“He-had-it-
“My next trick,” said the conjuror, ™
apparently separate; at a blow

There was a general buzz
“Me-must-have-had-another-lot

heard o whisper,

*1 will now," he continued, “sh@w voul A Tasel - ¥ j m enabled to take any
number of eggs from a hat. Will sak e at? Ahpfthank you—Presto "

He extracted seventeen eggs, and glidic cr Megan to think that he was
wanderful. Then the Quick Man whisfger =dffas-a-hen-up-his-sleeve,” and
all the people whispered it on. "He-ha$8

The egg trick was ruined.

It went on like that all through. It transpired from the whispers of the Quick Man that the conjuror
must have concealed up his sleeve, in addition to the rings, hens, and fish, several packs of cards, a
loaf of bread, a doll's cradle, a live guinea pig, a fifty-cent piece, and a rocking chair,

16. "The brow of the conjuror was clouded with a gathering frown.” The sentence means that
the conjuror

fa) was very pleased ()} was very sad
fe) was rather angry fd) was very afraid
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17. "The egg trick was riined.” This means

19. The author believes that the Quick Man

that was really
fa} eggs were all broken ) Tostiak
(b} people were unconvinced
Bl clever
fe) conjuror was disappointed
fd} the trick could not be performed fe} wrong
fd) right

18. According to

the Quick Man, the

conjuror

faj had  everything

bough

i extracted seventeen eppgs
“‘:’c af

producticn
b produced things the Quick Man
he knew
(e} had things
Hu saed entleman from the audience
(dl created an {§
Magda Good mo
Mra. Smiles : Yes, it is, isn ou haven't been studying too hard,
have yvou? You
Magda I don't, do 17 Well, I have seen Dut much lately. | don't like this weather a bit.
Why, we haven'i had a dry day for weeks, have wepP
Mrs. Smiles :©  No, | dont think we have, Let's see, vou'll be going back home next month,
won't you?
Magda Oh no, I'm not going back yet. My sister’'s coming over first

Mra. Smiles :

Magda

Mrs. Smiles

YPL-U-AV.]/60A

Oh, is-she? You're looking forward to that, I expect. How long is it since you saw her? -
Nearly & year now. Yes, | am looking forward to it very much.

She’s coming over here to study?




Magda : ¥es, that's right, [ shant go back home until shes settled down. 1 don't think 1
ought to, ought I?

Mrs. Smiles : Well, no, she's vounger than you are, is she?

Magda : Yes, gshe’s only ecighteen.
21. Magda had not been out much lately 23. Mrs, Smiles says, “You're looking forward
because to that® This means, Magda was
her sister's arrival.
ja) she had not been keeping well fa) expecting with pleasure
pn:pnemrd for
{b] she was busy with her s

fd}  her sister had oo

fa} it had been raining heavily
25. Mrs. Smiles and Magda are

fbl her sister was coming over [a) classmates
b school MHends
{e}  her studies were not completed

fe} mneighbours

jd] she was not fecling well f} sisters-in-law

YPL-U-AV.]/G60A T [ P.T.O,




FILL IN THE BLANKS

Directions : Each of the following sentences in this section has a blank space and four words or
groups of words given after the sentence, Select whichever word or group of words you consider
most appropriate for the blank space and indicate your response on the Answer Sheet accordingly.

26. We fail to understand vour reasons 31. They apologized me for what
for the college without completing happened.
the degres,
fal to fB) At
fa) attending {b} joining
fel  Ffor {e] wnth
fe} leaying (d) refusing

27. She her energy and _j
shouting only when she heapd il
of bulldozers and cranes : . siruggle (b} stroke

spoken for two minutes

was & commotion in the
28. The British

collapsed in the

century. {b) hardly
fa)l hegemony fd} little
fef  residence
d'not commit myself that
of action
29, The football match has. :
because of the weather, fa) of fbl to
ja) called off b}  continued fel by fe] with
fe) put off fd) turned off
35. The soldiers waiting to go into battle for
30: [F1were rich; & Tk the first time were full of ;
fa) T travel fal apprehension
fb) 1 can travel (b} consideration
fe} 1 would travel fe} anticipation
fd} 1 travelled fd) frivolity

YPL-U-AV.]/60A 8




IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.

Choose the response (a), (bl {g) or (d) which is the most appropriate meaning and mark your
response on the Answer Sheet accordingly.

36. A red-letter day 39, To be in a fix

fa) a trivial day

fal to receive strong criticism
(Bl avery important or significant day

fel @ day of bloodshed and violenc

fd} a mourning day

37. The gift of the gab

fa) ability to 1k ‘ A o bein @ difficult situation
confidently

(b ability to spoil &

38. Walk a tightrope

fa) to be forced to leave your job (b} to steal belongings of
fbj to be ready to fall
fg) to get benefit in bad situation

fe} to act very carefully

fd} to invite danger fd} to extend a helping hand

YPL-U-AV./60A 9 | PT.0.




ORDERING OF SENTENCES

DMrections : Each of the following items in this section consists of a sentence the parts of which have
been jumbled. These parts have been labelled P, ), R and 5. Given below each sentence are four
sequences namely fa), (b}, fe) and (d). You are required to rearrange the jumbled parts of the sentence
and mark your response on the Answer Sheet accordingly,

41. Domestic fires in Indian villages 43. Newton discovered that
P. as the heat is dispersed P. due to the gravitational pufl
Q. an unhealthy smoke accumulates Q. of the earth
i unventilated houses R. the apple falls
R. are wasteful 5. on the ground
8, lit in Chulhas The n@ i hakd b
The oorrect sequence s : . ; fby RSPQ
() PQSR (d] SQRP
bl PQRS
wie ill in the house
fc} SPQR >
v me time
id) SRPQ alKbugh the echoes of it

43, Bold rocks near at | ot sequence should be

P. makes a _
imagination b} SQRP
Q. than distant Alps (d) RSPQ
R. are more inspiring
S. and the thick fern upon a heath 45. The history of mankind is
P. and steady progress
The carrect sequence should be 0. continuous. cl

R. the history of

faj QRSP

5. from barbarism to refinement
fb) RSQF The cerrect sequence should be
fe) RQSP fa} PQRS b} RQPS
(d) SRQP fe} QSPR (dj SQRP

YPL-U-AV.Jf60A 10




CLOZE COMPREHENSION

Directions : In the following passage there are some blank spaces with four words or groups of
words given, Select whichever word or group of words you consider most appropriate for
the blank space and indicate your response on the Answer Sheetl accordingly.

The honeybee is a very unusual kind of insect. ____ 46. ja) Unlike other insects which live
{B) SBimilar to
fe/ With
fed] Like

alone, the honeybee lives as afan of a Gmunit}h These bees live

together in what is known & f the bees is called the

gueen bee, She is bees, Her main task

is to 50. (a) lay CRES.
b) hatch
fo) make

(d} bear

YPL~-U-AV.J /60A 11 | P.T.O.
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PART—B

Directions :

The following six (6) items consist of two
statements, Statement T and Statement 11
Examine these two statements carcfully and
select the correct answer using the code given
belaw.

Code ;

faj Both the statements are
individually true and Statement I1
iz the cormect explanation of
Statement 1

() Both  the  statemes
mmdividually true but 2
is mot the correct @8
Statement I

fc}  Statement 1 1s tru
is false

fd] Statement | is false
is true

§51. Statement T 2
The pitch of the sound W
upon itz freqguency.

Statement I1 :

The loudness of the sound wave
depends upon its amplitude,

52. Statement 1

Sound wave cannot
VaCcuUm.

propagate in

Siatement 11 :

Seund waves are elastic waves and
require a medium to propagate.

YPL-U-AV]/GOA
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B3. Statement |

The Government of India Act, 1935
introduced Dyarchy at the Centre.

Statement 11 ;

The provincial autonomy was granted
to the Provinces.

B4. Statement | :
Mughal Paightng reached itz climax
‘ I@gﬂ of Jahangir,

pzdb's Court was adormed by
] hest known artists of the
h-Echipol of Painting.

ks
L

produce most of the
in the ocean.

56. Stalement ‘II:
Ceostrophic wind blows above a height
of 600 metres, paralle] to the isobars.
Statement [T :

Geostrophic wind is the horizontal
wind veloelty, in which the Coriolis
force balances the horizontal pressure
force.,

| PT.O.
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61. Which

57. Which one of the following groups of

cellular organclles contains DMA?
fa} Mitoechondria, nucleus, chloroplast

(b Mitochondria,  Golgi  bodies,
nucleus

fel  Mitochondria, plasma membrane,
nucleus

fdl Chloroplast, nucleus, ribosomes

58. One of the additional functions of

Smooth Endoplasmic Reticulum (SER)
is

faj protein synthesis
b} Hpid synthesis
fe} storage of biomolecule

() colour of the Mdwes
fc} colour of the led

fb) Protista only
{e)  Monera and Protista both
jd} Praotista and Fungi both

one of the following is &
waterborne disease?

fa} Jaundice

fB)  Tuberculosis
fc) Rabies

fd) Arthritis

¥PL-U-AV.]/60A
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62, The atomic number of an element is 8,

How many electrons will it gain to form
a compound with sodium?

fa) One
b} Two
(e} Three
(d} Four

B63. A sample of oxvgen conlains two isotopes

of oxyvgen with masses 16 u and 18 u
respectivelv. The proportion of these
isotopes in the sample ia 3 : 1. What will
be the av atomic mass of oxygen in

of the following is a
5 mixture?

acid

65. What is the formula mass of anhydrous

sodium carbonate? (Given that the
atomic masses of sodium, carbon
and oxygen are 23 u, 12 u and 16 u
respectively)

fa) 286 u
i) 106 u
fel B3 u
fdi 33 u

BT
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. Which one of the following is called
‘syngas”?

fa) Cisi+Hz0lR)
(b} COgl+H;0M )
fe) COIlg) +Halg)
fd] NOsig)+Hsle)

67. The frequency of ultrasound waves is
fal less than 20 Hsz
(bl beotween 20 Hz and 2 kHz
fe] between 2 kHz and 20 kHz
fd) greater than 20 kHz

chamber is replaced by CO, gas

the total number of CO5; molecules
in the chamber ia n/2 at the same
temperature T. The pressure in the
chamber now is P'. Which one of the

following relations holds true? [(Both
the gases behave as ideal gases)

jg) P'=P

) P=2F
fg) P'= P2
fd) P'=Pj4

YPL-U-AV.]/60A 1T

T0. Which one of the following i= the correct
relation between A and nm?

fal 1 nm=10"14A
b} 1 nm=10A
fef 1 nom=1A
(d} 1 nm=10"24

T1l. The full form of LED is
fa) Light Emitting Diode
{b) Light Emitting Device
fe/ Light Enhancing Device

Light @m:h:lg Diode

wing places of India @

4,  Amawl

Which ane of the following is the correct
chronological order of the above places
in terms of sunrise time?

fa) 3-2-1-4
b} 2-1-4-3
fe) 1-4-3-2
fd) 4-3-2-1

| PT.O.
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T4. Which one of the following is known as
uplands of delta region?

fa) Bef
fb) Bils
fci  Peh
{d) Chars

75. Consider the fellowing
Sanctuaries of India :

Shikari Devi
Bhadra

Wildlife

Simlipal
Pachmarhi

bW R

north?

(@) 1-2-3-4
(b 2-4-3-1
fe) 2-3-4-1
fd) 3-1-0-4

76. Which one of the lollowing st
about temperature is correct?

fa) Temperature decreases with height
in the stratosphere.

B Temperature is constant at different
heights in the siralosphere.

fe) Temperature increases with height
in the troposphere at an average
rate of 653 “C. per kilometre.

fd) Temperature decreases with height
in the troposphere at an average
rate of 64 °C per kilometre.

YPL~-U-AV.]/60A
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77. Which one of the following is known as a
gone of sharp salinity change in the
vertical section of ocean?

fal Thermocline
iy Halocline

fe} Photic zone
fd} Pycnocline

T8. Permanent hardness of water cannot b
removed by which one of the following
methods?

fa) Treatment with washing soda
fb) Calgon's method

e} Boilin
‘ :}B@: method

the following reactions will
oxide) gas as one of the

81. Which one of the following statements is
not correct?
fa) All carbons in diamond are linked
by carbon-carben single bond,
Graphite is lavered structure in
which layers are held together by
weak van der Waals forces.
fc)] Graphite layers are formed by
hexagonal rings of carbon atoms.

Oraphite lavers are held together
by carbon-carbon single bond.

(b}

(cd)

[ P.T.0.
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83,

B4,

86.

Which one of the following is called
dry ice?

fer) Bolid carbon dicxide
B Liguid carbon dioxide
e} Liquid nitrogen

fedl  Ligquid ammmonia

The acidic semidigestied food coming out
of the stomach is neutralized by

fa} pancreatic juice
i) ducdenal secretion

fci  large intestine secretion
fd] bile juice

The oxvgenated blood from i
received by the

fa) left auricle
(B left ventricle
fel right auricle
fd) right ventricle

The oxvgen evolved§ duri

svnthesis comes from

fa) - water

b  carbon dioxide

fo) oxygen

fd) light
Which one of the following depicts the

correct circnit of a reflex arc?

fal Effector—sensory neuron—spinal
cord—motor neuron—receptor
[l Receplor—sensory neuron—aspinal
cord—motor neuron—effector
fo) Receptor—sensory neuron—
brain—motor neuron—effector

{dl EBensory neuron—receptor—brain—
effector—motor neuron

YPL-U-AV.] f60A

89. The
0 Kelvin., In *C unit, which one of the

87. If one set of chromosomes for a given

plant is represented as N; in case of
double fertilization, the zygote and
the endosperm nucleus of a diploid
plant would have how many sets of
chromosomes respectively?

fa) N and 2N
B 2N and 2N
fej N and 3N
jd) 2N and 3N

B8. Consider the following circuit :

esistance between points
¢ circuit given above?

absolute zero temperature is

following is  the
temperature?

faj O"C

absolute.  Zero

(b} -100 *C
fo) 27315 °C
fd) -17315 °C

| B.T.O.
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fb) Fe 1 A2 4 ) gt i -
o) Ram 2 afm 3 ' '

(d) FE 1 R < .

) i v ovs e oo §

o |

91, FEE [ AW EEWE m i
we wers W A o -3
witers & T F 4L TR , K
¥R W 2m W AWy : O R
et -ayafl e Feafafm | 8 i )
= »
faj T |
af? 3 afivet &yl By, R, oK R, 8,
it Pl @ & S9-m wd 1
(b 2T
fa) Ry>FR.> Ry
P B Ry<R;<Ry
fe] Ry<Ry<Ry
d) T/2 {d] Ry=R,>R,
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00. Consider the following statements about 92. The connecting cable of electrical
visible light, UV light and X-rays : appliances like electric iron, water
heater or room heater contains three

1. The W‘ﬂ\"'ﬂ'}ﬂﬂﬂﬂl of visible light is insulated l:l:lp]:ler‘lil-l'iﬂ:ﬂ of three different
more than that of X-rays. colours—red, green and black. Which

2. The energy of X-ray photona is one of the following is the correct colour
higher than that of UV light code?
s {a) Red—live wire, Green—neuntral
3. The energy of UV light photons is wire, Black-—ground wire
le than that of visibie light
Fﬂ:zmm e & fb) Red—neutral wire, Green—ground
' wire, Black—live wire
Which of the statements given above f¢) Red—live wire, Green—ground
infare correct? wire, Black—neutral wire

wire, Green—Ilive

fa) 1,2 and 3 neutral wire

{b) 1 and 2 only

fo) 2 and 3 only g -f. Ag, for three Hnear resistors

(d} 1 only 3
I"'-.I
.l".-‘. ..-"'3'
91. The time period of pacillation P 'fr’ "
pendulum having 7 T
the bob m is given as ] L =
the pendulum is incres 2= »

o ’[l L
then which one of the follov ﬂﬁf} K}'\,‘\L

. By and Ry are the resistances of
new time period of oscillation?

'hese resistors, then which one of the
following is correct?

fa) T

fal Ry> Rq> Ry
(B) 2T

By RI{HH{EE.
S () Ry<R <Ry
'Fd} ]“.Ir.i fd] R:]':?" H.:} R‘t
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94, wH mEEEl AW uE ogedie 6 R d
Frefetigm =uet o faam $ifem

1. gqeeEsl F Juw e slegws, 26 6
ImE FE B R

2 wmuitw & fegws v o, wE
S 1w @ e

3. gEsw oW owmedR, ik wfieww #
w0 % W F e e

4. gaEdl W wEeE, I afinEs
w3l & wgd F w awm B

afm & @S-8 we wd
fa) Fe 1 ofi 3
b} 1 =W 4

er 2, 334

idj 1,23z

95. UF U W ITHEA M, w4

ﬁmﬁﬁqﬁﬁlﬁﬂﬂﬂ‘ﬂﬂth Pt
aE WA e Fefeias § @ e
#

fal o
bl 24
fef o f2

fd) @ /4

YPL-U-AV.] f60A

96. wHi-1 F TGk oww gafe Sifm oo

wieEi & #r fon o #2 w wwm = @ T
T
wi-1 =11
(= 3fF=) (7m)
A, i 1, Pz
B. e 2, JF W
C, 94N 3. It
D. T 4, drd
FE
faj A B C (&)
3 4+ 7
3 s S
2y & D
. 1 2
it D
4 3

.
¥
;
"

weft-11
()
L 1 w
2. %y
a1a 3. =
D. = 4, I svREm
T
faj A° B C D
1 4 2 3
bt A B C D
1 2 4 3
et A, B € D
3 4 2 1
jd) A 5] . o
3 ¥ & 1




84, Constder Lthe following statements about
a microscope and a telescope |

1. Both the eyvepiece and the objective
of a microscope are convex lenses,

2. The focal length of the objective of a
telescope is larger than the focal
length of its evepiece.

3. The magnification of a telescope
increases with the increase in focal
length of its objective.

4. The magnification of a microscope
increases with the increase in focal
length of its abjective.

correct?

fa)
)

(e} 2, 3 and 4

1 and 3 only
1 and 4

{d 1,2 and 3

95. A planct has a mass M
The value of acceleratiog
on its surface is g. Ther
planet 2, whose masa and ratfig
are two times that of the first plH
Which one of the following is ﬂ'm
acceleration due to gravity on the
surface of planet 27

fal o
) 2gy
fel g /2

d) /4

YPL-U-AV.]/60A
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6. Match List-] with List-I1 and seslect the
correct answer using the code given
below the Lists

Lizi=-I List=IT
{River Basing { Tt
A. Bhagirathi 1. Lansdowne

B. Alaknanda 2. Narendra Nagar
C. Mayar 3. Uttarkashi
D, Ganga 4. Pauri
Cadle :
fa} A B C D
3 4 2
e b
1 2
1 5 D
1 3
i C ]
; L 3

ith List-Il and aselect thea
awer using the code given

List-{T
(Flace}

1. Budan
2. France
3, Japan

. Haboob 4, HMorth America
Code :
fal A B 5 D
1 4 2 3
fh) & B 5 D
1 2 4 3
el A B C D
3 4 2 1
fed) A B C D
a 2 4 1

| P10




o8, @ @ ‘el Frafafae afmt d @ Fen
feum 7

fa) W
(b w

fe) T

i
E

101. -] W gH-11 % ww gifee fifm s

qf & i B w2 W own w=Eh Im
g -
i1 i1

(= ) (feafr)
A TIEEEE 1. wE-%g 8
B dwma 2 mwwmi
C. fmmmmzm 3. 4 & W w
D. " 4. TARAEEE &N W

el - ’ “
_ V(o Sut _
100. f=fafan 0 @ fea wen & ta 3 wra oo fefim # # FEom wEEm (FOWE) W
T g &7 = AR BT
fa) TE FEHT A9 fa) ST
(b} T T (b wfEa
fc) A A fef ST
fd) T = w fd) e (R=)
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98. Majuli’, the river island, is located in 101. Match List-I with List-1l and select the
which one of the following rivers? correct answer using the code given
below the Lists :

faj Jamuna tiekd "
[Major Port) {Location)
s A. Kolkata 1. Landlocked area
fcj Ganga B, Mormugao 2. In the defta region
C. Visakhapatnam 3. On the riverside
fdf Brahmaputra
D. Paradip 4. On the entrance of
the estuary
D
2
D
2
D
3
D
3

100. Which one of the following
cloud is characterized by mnﬂnuuua :
precipitation? 102. Which one of the following is not an

agent of metamorphism?

fa} Cirrocumulus

fa) Heat
(b} Cumulus R ——
fe) WNimbostratus R} Deosnposition
{d) Cumulonimbus (d} Selution
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103, fmiafas # @ B femm @ pH, 7 4 =9 106. Fafafi & & Sw-m faem = el g

Ll e

fa) NaOH faj CaSO,-2H,0

W KCI fb} Ca,8i0,

— fe) 2CaS0, -H,0
fd} CaSO0,

(d] MaCl

27
fal NalDH+ HC] = Nag +‘Hﬂ

fb} Ca0+H,0— Ca i), : a:rsgmﬂﬁfmﬂﬂ
fe) 2Mg+0, — 2MgB ~T

fd) Ka,S0,+BaCl, -W3a SEERET i oo Y

105, &= & = 0§ fr=fefimn & 8 &8 wge

o = 7
108, X-Fmt =1 wintsd fes il = g 27

fa) STHTFED ATELE

faj 1A
jb) I AeEEe

(6] 1pm
fel fel 1 mm
idj ST wek fd) 1 om
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103. The solution of which one of the following 106. Which one of the following is the

will have pH less than 77 chemical formula of gypsum?
fa) NaOH fa} CaS0,-2H,0
B Ca,310,
by KCl
fe} 2CaS0, -H,O
Fell
fe] 3 (d} CaS0O,
(d) NacCl

107. Which one of the following statements

0wnfninuﬂvnﬁnn of mass is

,'Bf;e gases combine in a reaction,
they do so in a simple ratio by

, provided all pases are al
cmperature.

ual volumes of all gases at same
emperature and pressure contain
equal number of molecules.

105. Which one of the following is not us

fertilizer?
108. The wavelength of X-trays iz of the

fa) Ammonium nitrate oreieRiak

fa) 1A
fbl  Ammonium sulphide

(&) 1 pm
fe) Ammonium phosphate f Lmun
jdl  Ammonium sulphate fd) 1 cm
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109. Fr=ifEa 3 =i gww & o o Tammw S . 111. Fr=ifea site § Toiy sgen, ©F T2 = e
M fam avEen @ U HEA wHEE WA
fms) B ow owe oty wnn 2 fRoam owmm ®
& FEATT 100 cm gl 4 s A mmw

-
%
L]
i
i

4 -

=

LN

>
1216 g o

E
o e

&8s @ 12 5 7% i s w o Presfaiew

e s A s
fal & m/s® = #H-m{:: 1000 cm /s?)
(b} 12 m/s?
fc} 2m/s?
fd) -1 mfs?

110, 4 wF 399 G f W g 50 8

Tl i () Freaferfian & & -5 9 ¥l TN e e e 16 1070 K
B WH AR WER S FOAH
fa) +2 BT Facfafiga d @ F=-m &7
fa) 0-8x10° K™t
(b) +002 TRAT
b) 2.4%107% g1
fe) -05 =T fel 32%107% K1
fel) 4005 BRETEL fd) 4.Bx1075 K
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109. Consider the following velocity and time
graph :

(m,/s)
2]

-
L
L]
n

4

=

I—
ot

4 8 12 16 Time(s)

Which one of the following is the value
of average acceleration from 8 s to 12 s?

fa} 8 m/s*
fb) 12 m/s?
fe} 2 mjs*
fdl -1 m/s?
110. If the focal length of a con

50 cm, which one of the follov
power?

fa) +2 dioptre
(b} +0-02 dioptre
fe) —0:5 dioptre

fdl +0-5 dioptre

YPL-U-AV./60A 31

111. A ball is released from rest and rolls

down an inclined plane, as shown in the
following figure, requiring 4s to cover a
distance of 100 cm along the plane :

=

Which one of the lollowing is the correct
value of angle 8 that the plane makes

of the fl:llluw::l:g Eives ﬂ:n: value of
coefficient of volume expansion of this
material?

fa) 0.8x10°5 K1
B 2.4x10"5 g
fe! 3ax102 K1

fd} 4-8x10° K!

[ P.T.O.




113, @t mem & swadaiE o @ on, g i §

dr g @ et ¥ mewm F 3 wmm
v By, B1 AR ny /e, WowE 15 R, W

116. -1 W g1 F e T fifim e

gfiwil i 4 fim 1 gz w0 gdm w ad am
g .

Frfafian wadl & 3 w=-m wdh 27 - -
-1 11
1 HH vy ¥ 15 i :
= ” i (e W) (eera)
(b} vy N EH v W15 AR
e} vy, AR by & v § A, dfim wey 1. ==y
fd] vy R p, 3 IR B. smydgma 2. Ew
C. I 7 3. fammeg
114, Frefafim 8 4 sy deeea e agyea 4
Fererrerea (sgerm ) wigen 3 B7 D, sw g (F) 4. Ei
fa) FETEET wE
fb) TR ATHATEE . W
fo) TETET EIEITEAEE 4 1
ldj HiwA
g B
& 3
115, g1 w geh-n &
it # i fn m B i
i 5 1
-1
(v = e - c D
) 4 2
A, FwmEizEdE il
B. - 315 HEHIE
=% " 3 2011 % 3R, ®-9F9 A &
D, S HEr w6y § wndlm UEE W 9 S @
e : Frferfian & & #9-m 87
fgg A B € D
A 1 4 2 3 (o) TR —afrp—Sgn—iuEE
M A B © D
1 2 4 3 iy Ergn—iorE—deerm R
el A B C D
3 5 4 1 (e e —afng— s —fn
] A B C D
4 & 3 2 fe) T —irarer— g —Tfim
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113. The trefractive indices of two media are 116. Match List-I with List-1I and sclect the

denoted by ny, and ny, and the velocities correct answer using the code given
of light in these two media are below the Lists :

respectively o and vy If ng fmy is 1°5,

which one of the following statements is List-I List-IT
correct? (Rathway Zone) {Headguarters)

fal vy is 15 times 5.

A. West Ceniral 1, Jabalpur
(b} 1y im 1-5 tmes u).
) 1w is equal to vy, B. South East Central 2, Gorakhpur
fd} v is 3 times vy. C. East Central 3. Bilaspur
114. Which one of the following greenhouse D. HNorth Eastern 4, Hajipur

gases is in largest concentration in the
atmosphere?

faf  Chlorofluorocarbon
{b) HMitrous oxide

B c D
fe}] Carbon dioxide 4 |
d) Metha
fd}f Methane n -
115. Match List-1 with Lis 3 2
correct angswer usi & -
below the Lists : 5 .
ListT
(Koppen's Chimatic Type) E 123'
A, Tropical wet
B. Mid-latitude desert
_ : ; gl one of the following is the correct
Lo iNEaiierransm - 1N fscending order of Indian States in
0. Humid continerntal 4. BWk terma of sex ratio as per Census 20117
Code : (@} Mizoram—Manipur—
Tripura—Meghalaya
faj A B C D
i1 4 2 3 b Tripura—Manipur—
fh} A B C o Meghalaya—NMizoram
: . 2 3 fel  Meghalaya—Mani
e pur—
el A B C D : » N
3 a2 =] 1 Mizoram—Tripu
fd] A B e D fd} Manipur—Meghalaya—
i 4 2 1 Tripura—Mizoram
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118, Pofefes 8 @ Bem owng w0 S (sfe
WG ) ey s e 87

fa) e
= e
fe)

(d) =R A

119, Frafefias 8 8 Sh-d oomfas s
s i 27

fa) T

agl B7

fa) THE FEE g T A 8

fh) =AW % wWH T e we & wiatea W
A, gy oavEn 8 ow-mown g
&

fc) WM|WWW:H
e B

{d) TEE BN g 200 cm BT ¢

YPL-U-AVJ/60A

121, wh Iow wdm & oume uw s o ogd R
Frferfine st 4 & s-a o 27

fa) TE F o I Wil S S

(b) = = i S R AR, A wihtEe
ieRE i W T B

fc) =W % @mE e e W i fE
T, WiAl== Je T qrEta v A

(d) T ] W R g A 50w e
WA B, A WiAA w1 TR we
el E A 2

Sl H afaEd] gw o7 R( el &
T W g 0] S B uflR
el Al w A s e fae

& AL, @ FEe F b @ padn
fi-aprq Frefofas 8 @ 9w Fme

123. WA & #fwm § me Fefefm | 8 S5

w Hiferh () s 6 4
fa) wEM = i

(b FEAIEl F HEER

fo)  mifewan 1 sftn

(cd) e % famg A=




118. Steppe (temperate continental) climate is
not experienced in which one of the
following places?

fa) Pretoria
{b] Saskatchewan
fe} Perth

{d} Buenos Aires

119. Which one of the following -'
process ui_' chemical weath

fa} Solution
fb) Carbonation
fo) DOxidation

fd) Exfoliation

fa) Its focal length 15 zero.

(b} The size of the image of an ohbject
placed in front of the mirror is
slightly less than that of the object.

fc] The image is virtual, erect and
laterally inverted.

fd] Its focal length is 200 cm.

YPL-U-AVJ/60A as

121. An object is placed in front of a convex

mirror. Which one of the following
statements is correct?

faj 1t will never form an inverted image.

(b} The image moves towards the focus
when the object moves towards the
mirror,

fe} Depending on the position of the
object with respect to the mirror,
the image can be inverted and real.

id] The size of the image becomes

larger than that of the object when
the ghject ia placed at a distance
eq half the focal length.

coil of madius R having
of turns carrica a steady
The magnetic induction at

ved, which one of the
be the correct value for
induetion at the centre of

123. Which one among the following is not

a Fundamental Right under the
Constitution of India?

fa) Right to equality

{b) Right to freedom

fe) Right te citizenship

(d) Right against exploitation

| PT.O.



124, Ffefn 4 @ St v woe 9 # 127. 390 % 13 WEaEwt 4 4 9 # Ww o
et g e w47 wfaffiE @ frew ol @m tw sl R
A el H A e gl o7
faj FHW &
fa) 1763
(b I B 1764
fe) TH el 1765
(o) Tk (d) 1766
128, T mig & 8 ¥4 3ol 9 @ i faed dmedi
128. =i wwa # Al e & ot 8 fefafe wraved) & Rreeraw e o) amn o6 o7
Fo] o fa=m ifam .

1. w=graEre diveR ol gem: v

fel 1 ¥R 299
@ AWM, AH2 2, SRS i

126, Frfofaa g6l & & FH-m v w6 gafen 27
130, F=2/m Taka s fafeafim 4 o e oow

i i o ) R w0 i o 7
fa) TR wEYE :
. fa) wurEm aimfy
b)) g : EEGIFG ) Pt vt wB
fej g TaRmEa o) R wff
fd] =a=g : A fd) aaflaEn witfy
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124, Which one of the following crops was 127. When did the Stamp Act Congress

mtroduced by the Portuguese in India? consisting of delegates from 9 of
the 13 colonies of America meet
fal  Opium New Yorlk City?
fb) Coffes fa} 1763
fe) Betel leaf ol 1o
wl 1T6ES
fdi Chili ¢
(d] 1766
. C:I:dtr fis mm:a_amm 128. Who among the following travellers
uhnt g ; was from Italy and visited Vijayanagar
1. Ayvavole merchant guild was Kingdom i e fifteenth century?

originally established in Aihgie

Which of the stateme

is/are correct?
i ; French East India
jal 1 only . st establish its factory
fb) 2 only
fe) Both | and 2

fd) MNeither 1 nor 2

126. Which one of the fllowing pairs 1s
correctly matched? 130. The Central Vigilance Commission was

Bl Safit Philosos established on the recommendation of
hy which one of the following Committess?

fa) Santhanam Committes

fa} Shankara v Avadhuta
() Ramananda : Neveladwaila (b} Dinesh Goswami Committee
fe) Ramanuja : Vishishtadvaita fc) Tarkunde Committes

{dl Chaitanya : Advaita {d] Narasimham Committee
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131, g1 = g & e gifem iR ok 134. g & # wuram & affe 2w dm oWl

afeat % 13 fim m g2 W g %= wd Im srafoim B
RIELE
fa) Ty
-1 w11
() () ol
A wRA T e 1, R amEwEm @ fe) wrEgfeEn
Sarar o
B. SR FRE 2. fo= = @
C, AT T 3, 7 fErwatt sfe g
D. wawEE dgE 4. el dE ae-ffn 135. = 2018 # Wi 3 ggm | W ww @
®E ¥ EeAr % (Fm) eaEEa 9fEE g A
w= wog 3 ddf andEm W wem TR e
‘ﬂ o i | e B
B
s i 4 2 T nferm ofE (-
M A B C | ECEF
3 2 4 | e e v (3 s )
el A B C
1 4 0 BRI
d A B <C
1 2 4
132, i (FIFA) o908 %0, , 3 HieFa & @ #1967 F wew T
i, Freferfion 8 4 =) :
fe) G
b} FEFN
fc) g
fel) amaftETR
133. waifA T dw Fefmem (00 8@ a7, @ dmsd @ PR awdm im Em Ao
fawfges woiy, 20018 ¥ SgEH) W FF?
T S A e P S————
faj SHIETT
m) i LB
fe) @ fo)  AvE i e
fd) wim = fd} Wo dha FEE
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131, Match List-] with List-Il and select the 134. Sentosa island, which was in news

correct answer using the code given recently, is located in
below the Lists :
fa) Singapore
List-T List-I1
(Author) (Baok) gt
A. Bal Gangadhar 1. The Arctic Homie 5} aistrelin
Tilak in the Vedos jd) Sri Lanka
B. Dadabhai Naoroji 2. Hind Swaraf
C. Mahatma Gandhi 3. The Discovery of 135. Indis, in June 2018, asserted that any
India mega connectivity project must respect
govereignty and territorial integrity of
D. Jawaharlal Nehru 4, Poverty and the counigies. The project referred to
Un-British s =
-South Corridor Project
ez nd Road Initiative
fal A B C
3 4 2 Port
& A B c Canal Expansion
3 2 4
fcl A B c
1 4 2 the following is mot a
fd] A B C
1 2 4

132. Which one of the followi i
Mazeot of the FIFA WorldiCup,

fa) Fuleco Russia
Zakumi

IE Pille : fd,.l .Jn];un

fd] Zabivaka

137. Who among the following leaders started

133. The Headquarters of the proposed the Indian Home Rule League?

Mational Sports University {as per

the National Sports  University fa) Gopal Krishna Gokhale
Drdinance, 2018} will be st up in

{fa) Chhattisgarh (b) Mahatma Gandhi

b} Manipur

piighs fe) Bal Gangadhar Tilak
fd) West Bengal fd) J. B. Kripalani
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138, WHA i Teran A w1 W S 142, 7EE # w2 sfE el & sfem =

7 T T = 27 T i i T @ W e e
fa) mmmﬁmﬂmmﬁm} i S
) sfidEs
fcj —wWE =1 TR (b) i He =i
L ) Rt Wi
139. Fgs-uFeRifaa i I gh et § 8 (d) W em
fem wx Saadfy 9 g SEEl T St
1 d oft?

la) RS TEENE T
) gudt gt A
fe} TR Te=ETg g
fl) wver] ol W g AU, T T g7

(NTTH) smEm g st e &
7 8 Bm s o

141. wima & dfgam & Rfire 7 'FoEEE’ =
Erefafn # @ fom o wviles sfefEw % fa) W % A
aeEE F saiae e m ot

fh) WA F mEEEE
o) 415 daiw R ’
b) 42al sy stEm fe) i e
fel 4341 deitem arfufFEm fd) FEE TeEEE (EEE AR, qE e
fed) 4437 deirgs sfafmy (CEa R
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13B. Every Judge of the Supreme Court of
India is appointed by

faj the Bupreme Court Collegium
(b} the Cabinet

fe) the President of India

fd] the Lok Sabha

139. The MNehru-Mahalanobis Strategy of

Development was implemented for the

firet time by which one of the following
Five-Year Plans?

fa} First Five-Year Plan
fb) Second Five-Year Plan

fa} Equal justice ? -
{b} Protection of

el Protection of person3
(i Separation

141. The word ‘socialist’ was inserted into the
Preamble to the Constitution of India
through which one of the following
Amendment Acts?

fa) 41st Amendment Act
(b} 42nd Amendment Act
fe}  43rd Amendment Act
fd) 44th Amendment Act

YPL-U-AVJ]/60A
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142.

143. Which o

The place of English East India Company

gettlement in Madras was known as
fa) Fort William

{b)  Fort 51 George

fe} Elphinstone Circle

fd} Marble Palace

the following Indian States
Himalayan or NE States)
in the Composite Water
gement Index as per the report
gy the NITI Aayog in June 20187

fa) The President of India
(B} The Prime Minister of India
fe] The Union Home Minister

fd} The Union Minister of State

[independent Charge), Ministry of
Development of North Eastern
Region

| P.T.O.



145, fag e fBaw (a7 =2 g 2), 2018 ) 148. WIH & HAWA F sese 352 § feed i
ey fforfiam 8 & aha- 87 I7Ea 37

fa} T T WA HT FrEa B

(b) Tt sin & fom =t offen) o #fam
wg wffe (b) Tr=at & wifas s & e

fa) T TS

fe} e difem ) andt Afm | Ir-aw S
() o ofraa w=E & fE s v

fc) wfEam F v om # wEw sfawdl &
TaEe = e

HEIHEHHRHW?HEEF

iR T we & ow @ FefaiEs st @A

147, Te fRm wew, o fl ofimn goem, W a iy

2018 (Fep U9 WYEW) @ were R

Taefoifas @ & fas wads 87
’ fa) 9wl & A g b w9
fa) HEGA A WS
9 | F * o
by PRS Faurft mw il e

fe}  Hers mswm s e gun SEEE

(d) TOTER WIETH

YPL-U-AVJ/60A
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145. Which one of the following is the theme of
the Warld Blood Donor Day, 20187

fii} Blood connects us all

{h) Be there for someone else. Give
blood, Share life

fol  Give blood. Give now. Give often

! Thank you for saving my life

146. 'Seva Bhoj Yojana', a scheme of the
Government of India that aeeks
reimburse Central share of QEST
IGST on Food / Prasad [ L
offered by rebgious
introduced recently by

b The Ministry

fe) The Ministry

(d} The Ministry o

147. Dr. Bindeshwar Pathak, i
awarded Wikkei Asia Prize, 2018 for
Culture and Community, is the
founder of
jal Bachpan Bachao Andolan
(b} PRS Legislative Research

fc) Sulabh Sanitation and Social
Reform Movement

fd) Smile Foundation

YPL-U-AV.]/B0A

148. Article 352 of the Constitution of India
contains provisions related to

fa
(6]

fel

fe)

fel

\F}l‘

put Bipin Chandra Pal is correct?

financial emergency

failure of constitutional machinery
in States

suspension of the enforcement of
rights conferred in Part Il of the
Constitution

general emergency

one of the following statements
He was a member of the moderate
group of Congress.

He was a member of the extremist
group of Congress,

He was the Minister of Defence
in the first OQovernment of
independent India.

He was the Chief Minister of West
Bengal.
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